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G (al (=515 (3.23) (b1 (=4, -6 12,6) Talilg=2.k=d,c=-4(b}-05.4 (c)x=175
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LEVEL 4

thiy=-05o0r v=2
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CHAPTER 7 - TOPIC TEST
Tox=7o0r v =<1 200 (x=8){x=4) () (x=6)2 () {x—6-B)x—6+./6)
3.0884. 188 4 v = 2+2v+3.(14) 5. 2.3 6.4=3
Z.(a) i —(v=10)(x—4) di. x(8-x)

-
A=(40).B=(8,0) and C=(10.0) (hhx = “T“

© 85qu 8 @ r = 05w+ 1 b1y = 2021 © 025,0875)
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[ | ANSWERS TO CHAPTER 8
EXERCISE 8.1

1 (a)dom=4{2.3.-2 . tan={4.-9,.9} (hydom=1{1.2.3.5,7,9 . ran = {2.3. 4.6, 8. 10}
(chdom={0, 1}, ran={1.2} 2. (a} |1, o[ (b)[Q, 00 (c)]9, 00 (d)|mee, 1]{e)[-3,3]

() oo oo (o) =1, 0] (hh [0, 4] ([0, =] (GV[1.5] (k) 0, 4] (1) Jose, =1 ] s [1, o
3=l d=[0,2[ (h) r = {3204} R (O r =10, \[3},d = [ -4, o[ YO}
Wdip= =20l d=[-1,2[ () r=|o, 0| d =]—ee, 3] |3, ee] (1r=[-44].d=[08]

4. (4) one o many (b1 many to one (¢) many to one () one o one (¢} many to many
(Frone to one 5. (1) R\{=2} (D) |-ea, 9] () [44] (d) Jooe, 2] w2, o (e) RO} (R

EXERCISE 8.2
Graphs with graphics calculator output have standard viewing window unless otherwise stated.

A 3,5 L2+ 3 1. 2a 1) 3 2010 0, % (b} no solution (<) {(L :—(ﬂ

3 08¢ v+ 15,05 +x+ 1.5 (b1 +,2 (¢)no solution
4. (a)r=0,1 5. ) . ii.

by / \ /
/ 1
Window |-2.2],[-1.1] i {2.2.-2.2 )
Range: [-12.4] Bitde WEY Ml

6. (h), (e}, (), (e) B da) (L) (1) 40, () {3y > L} vy s—1.25} (b) 10
1. () [-3, 00 (b} [-3,0] () [3, 00 td} [1.3.3]W]3.09]

9. ()

Window [-2.2], [-1.1]

thy [0.1]
EXERCISE 8.3.1
1. (by H / ~ oy 2 ‘1
- Bt 1 pe—
1 .", ¢ /
i 3 B = 4 L A8 -
| > <l = 73 g
L i 2 I pp—
1
3. () vy (h) i () vk () =i 4. 1
! / L
/oy s a r [
/ Y o - /

\
//" s
~gis
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1o \ ! .
7T / T o ) /
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SR
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EXERCISE 8.3.2 . ()1 1.

1. () (b) (c) (d (e) / 1y 1y
NEIE N b v 4/
/NN | /s Jo
N | o / / ! - \ 1.2 /
/ Y E A ! / e[ \oo| / ( LY
/ % v N/ — A
N X M N TN AN
0§
(h 4 () (h) (i) » .
! i !
}\ 4y ) f . 6. 4y / I
N z B / / S
y \\ & \\\. // i\\ Vi :\‘\ P / - . \\
/ \ . i \ g \( . / RS \, L
/ \ A y ; / — >
7 N — = I =1 = = 0 &
EXERCISE 8.4 G i o e -
1. () -1.62,0.62 (h) 1.2 (1125 () 152 (e) 1 (1204 (2) 1.25.-1.25 () 0.34.8.99 AR 5 APRShE R
No solution (13 (k) 344 (h—1.67
(11 No solution (] 3 b LEVEL 3
CHAPTER 8 - MISCELLANEOUS EXERCISES 1. () 11-“ by 113' 2.04 0340 3 el (o)) = x: flela) = ¢
1. (i) Yes (b) (c11.0=x=3 n.[1.3] 2.002m (b 6om () '_} / ‘_’ s
27 I —— 4. Culeulator check. 5o v = ——
3 by {d) None, bE o / J F ]
T 1 =12 lies outside the domain. ’.‘ "." - - & Ly
/‘ / o012y 10 1 2 x e o
- / / g o
1y 2 5 Ny
i | 7 . - F
3. by Ay 2-2 (b i (0.4) 01,5 5atw) 60.44.36,32,30 G 4
o _// i h=2as % (b Use gruf:(l’ilcs cale. i i
b - (128 td) = minutes
b P 3 | by
Ve 2 A | |
o I\ /
1.5=(0,2) 2. {+./3,#1}.3. 3<x<i: Y i

|
= . |
[ o |
3 . ! ‘ -
9. N 10.1 1. (b)V=0 60 64 36 0 (c)67.6 -3 0 3 x
5N\ : ]

d.ia) na=2bh="8e=61b)-075
E 5. (i) (b 1. & it

CHAPTER 8 - GRADED REVISION EXERCISES = = Fe=a

LEVEL 1 b "
1. ta)dom = (-1, 4].ran = [0. 3] (hidom=[0,6].ran=]0.6] iv)idom= RM2}.ran= R\3}.
2. (@and (€).3. ) y=2+2=4 M 18 ()6

LEVEL 2

1.8 2 (a2 x23 @ar-l 3@ p(fl0) = L ) ey = 128
3 2x l +x
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CHAPTER 8 - TOPIC TEST

1.0 Lt 1
2. 3. (a)range = |—ea, 16] (b) range = J-oo, 16+K]
Ly - Ly This occurs because all that
/ 1= — —. [2] has happened is that “&" has
4 / b been added to the function in
. / | (a} and 5o the graph in (a) is
/ - moved up A’ units,
N of T
0 =
4, (b 50
iy
& fmin 13 |7 1429 059
) 3 ~ T°C | o0 | 45 375 34 | 32 | 31
/ R
v L —y
1
5. (h) i T =30 6.
Ly (i 2 gaotS b2
90 6.0 P
\ S0 o
N 520 o
B 180 e -
- — — —=—— ‘

b
O 121314 »

Y

T o |
hry=90 if-l<x<]

F A { 03¢+1 if-25x<0
I iflex=l

1-05y d0=x<2

ANSWERS TO CHAPTER 9

EXERCISE 9.1.1

1.8 2.4,025 3.8, 18 4. 8and 1l or-8and -1 5.6 6.2m 7.51kmh! B.11,13

9. 25 days 10.30 11. () 30 (h) $50 each. 12.6 kmh-!' 13. 16 14.6 15. 3 hours 16.9
A7. (ar 15 hes (b 10 hrs 8. Chair-one: 20: Chair-two: 24 19, () 2km (b) 2.5 km

20. 7.5 hrs, 10.5hrs

EXERCISE 9.1.2
A w1 100 =2x 1.0 < v < 50 [Nb: if v=00r 50, A = 0 and so there is no enclosure]
(1A = 2x(50 - x),0 < x <50 i 10m by 80m or 40m by 20m i1, 1250 m? i+ 25m by 50 m

2. i 0<x<12 (b)) 20m? .32 m? uL 32 m? (o) hemby6m

B e () $12.900 g4
13600 # AR
3 7 28
i
P /
12.000—" /-’
L~ /
0? R 0 6 17
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A0 R(x) = wp = (40 - 0.0004x), 0 x < 100,000 (b) 1. S960.000 1. 18377 or $1622 |
must be integer values] 11 1.000.000

5. (my = ;(50—.\') thi A = g.\'(iﬂ—.r) 1 0<x<30 tei.
3 3

100

5000

——m’

5
. x = 25, y= ﬂ;dimenhiun.\ 50 m by - W 6.3583 kmh! 7. () 1004%
g ; e

(bt =229 (first time) then agaimat ¢ = 13,0104 )

8. (h) $95.26

"]“#CM 5 10. () el se ()
re 025, 02x<50 L
4 | 165, St v 80
55 A P30, R0 S v 160 LS .-
i | =
- 1.95, 160 < v < 320
w0 | X ==
usage {100 MI) 2,50, 320 = x < 500
. . 340, 500 < x < 1000 04s|  w—o
: 58—
wORD Tl
ML <r<d b A(x) = 3+ 0250, 0 v <d i
12, (01 200m 1320 m LA
th1 1034 sec and 11.66 sec 11 11.31 sec 16
(360 m
A3. (1) 0.53 sec (on the way up) and 9.47 see (on the i
way down) I
b 10 sec (c1500m () 1207 sec () 750 m 0
A4, (1) $72500 (hi No. (Loss of $20000) (¢1 2500
15. (a)
YA® (b1 870,000 1. 5300.000

300000
it ;
70000 | e Break-bven
LQ“"_LL pnin{s
4
| 3R 2000

26

(d)i.42.26% i1, 1.73 weeks

e

Mool

——

el

[0,10] by [0. 1]

[0.20] by [0, 1]

11 As time increases, oxygen level will be 100%

(1) See graph in (a)
1
1 $77.000 00 2100

1581 <x < 30619
(h See graph in (a)

V=

6000

16. (1. P(x) = - ,,L‘.rz + 194x = 72000 1. 0= x <6000
i

3
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9. B(3254, 1953), C(6146,3687) units in metres

L —

0

. (c) $4.70
(d) 51.88
vikm}

20 ETT T T

32500 6+ .48

(c) Fixed cost (e.g.. salary, electricity, ...)

() $76667 {to nearest dollar)
(e Pla) = 140x - m.\? = 70000, 0 < x < 6000

(210 =xs 380 or 3620 < x < 6000




